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DIRECTIONS: (Question No. 1 to 5) Study the pie chart R (97 & 1 & 5) Frafafad w9l @ IR 3 & 8 T8

carefully to answer the following questions. e F AT B
Percentage of students enrolled in different activities in a school. T & fafe FramRaTdl & AN AN Kt dofiga fentedl &1 st
Total number of students = 3000. CRIRRIRE A e = 3000.

Handicraft »ié\,\e
25% N
Dancing
I9

Percenta [ i viti { f .
ge break up of girls enrolled in these activities out of F fenfit & & 9 Tafaferl & AT AN Al dSliga defedl @
total students. I ST

Total number of Girls = 1750 qeREat & B @ = 1750
3 o) "

. | Handicraft
22%

Singing .
SN T

1. What is the approximate (best) percentage of boys in 1 =) ¥ TSB BT T (H'q‘@%') R &7

the School?
(1) 42% (2) 28%
(1) 42% (2) 28% (3) 34% (4) 50%
(3) 34% (4) 50%
2. How many boys are enrolled in singing and handicraft 2. &9 T4 &l ¥ % tﬁﬁﬁ TEH B GEAT T 2
together? (1) 485 (2) 505
(1) 485 (2) 505 (3) 420 (4) T | B T
(3) 420 (4) None of these
3. What is the total number of girls enrolled in swimming 3. R wd e § 9y tﬁﬂﬁ N aml astwar BN
and drawing together? e 1 #7
(1) 505 (2) 515 (1) 505 (2) 515
(3) 525 (4) None of these (3) 525 (4) T q B T
4. The number of girls enrolled in dancing form what 4. &q 3 BN Tt @t de @ e e I # tﬁﬁﬁ
percentage of the total number of students in the ARl @t wE 87 (A 3 @ SiE %)
school? (round off to two digit) 1) 11.67% 2) 14.12%
(1) 11.67% (2) 14.12% (3) 9.32% (4) T q B T
(3) 9.32% (4) None of these
5.  What is the ratio of the number of girls enrolled in 5. JTE & Wl @ Shga G & AT § deH 3 TSiEd
swimming to the number of boys enrolled in swimming? &I 1 ST 2
(1) 59:49 (2) 49:47 (1) 59:49 (2) 49:47
(3) 23:29 (4) None of these (3) 23:29 (4) T q E T
6. To move to the bottom of a document, you press: 6. UF AT B ad § o B ﬁ‘l’&, Y 39 B
(1) Ctrl+ End key (2) Ctrl+Home key (1) Ctrl+ End key (2) Ctrl + Home key
(3) Home key (4) End key (3) Home key (4) End key
7. Name the fourth layer of OSI Model: 7. 0S| Hfzd 3 A I FT T I &
(1) Application layer (2) Data link layer (1) FPET T/ (2) = s wa
(3) Transport layer (4) Session layer (3) TFEUR WA (4) 98 WA

srexs [A—1] PAPER-1[034578]



DIRECTIONS: In the following question below consists of a
question and two statements numbered | and Il given below it.
You have to decide whether the data provided in the statements
are sufficient to answer the question. Read both the statements
and give answer as.

10.

11.

12.

13.

14.

A. If the data in the statement | alone are sufficient to
answer the question, while the data in statement I
alone are not sufficient to answer the question.

B. If the data in statement Il alone are sufficient to
answer the question, while the data in statement |
alone are not sufficient to answer the question.

C. If the data either in statement | alone or in statement Il
alone are sufficient to answer question.

D. If the data in both statement | and Il even together are
not sufficient to answer the question.

E. If the data in both statements together are necessary
to answer the question.

What is the average weight of 30 students in a class
I.  If the weight of teacher’s included the average weight

is 20 kg.

II. If the weight of teacher is not included, the total weight
is 720 kgs.

@ A (2 B

Q) C (4 E

In a group of 15, 7 studied German, 8 have studied
French and 3 have not studied either. How many of
these have studied both German & French?

1 o 2 3

(3) 4 4) 5

The fundamental duties of the Indian citizens were laid
down by which of the following amendments to the
constitution of India?

(1) 40™ amendment
(3) 42™ amendment

(2) 41% amendment
(4) 43 rd amendment

The memory of a computer is commonly expressed in
terms of Kilobytes or Megabytes. A byte is made up of:
(1) Eight decimal digits (2) Eight binary digits
(3) Two binary digits (4) Two decimal digits

Dongri is the language spoken in:

(1) Assam (2) Bihar
(3) Jammu & Kashmir (4) Andaman & Nicobar

In a work sheet in MS Excel, what is the shortcut key
to hide entire row?

(1) Ctrl+2
(3) Ctrl+N

(2) Ctrl+9
@) ctrl+R

The maintenance charges for 35 residents for 24 days
is ¥ 6,300. In how many days will the maintenance
charges be ¥ 3,375 for 25 residents?

1) 17 2 21

(3) 18 (4) None of these

srexs [A—2]

e &Y U g & 9wk U ud A FAF | w1 I o B
m%%ﬁvham%%mmﬁﬁﬁaﬁz@qw%w%m
T

T HYAl B U T 39 YHR ITX o

10.

11.

12.

13.

14.

A IR T | H R T offher o WS G SUX 31 B
1 v ? Safs wee 1§ R offwer oa IO 39
3 ol waia & R

B. 3R HuF I § & T Sfihel S U9 P SuX A @
ford waia ¥ fh wee | Rar oifher o STX 39 B

o st =t 3
C. IR AT A FI9 | ¥ oFa a1 49 1| § o/bal &am ™
ATHET 997 & IX a7 B 9 9o 2

D. 3 &9 | qur Il A= H e Y W oeree ueT @
I 3 B ol w7 R

E. 3R aNf oMl R T offfe w9 & I 37 & [
MmawE |

Hem ¥ 30 fEniRiat @ ol W T ¥

I % e & 9) afEfkg ko @ ofed 9R 20
fepm. arm

Il 3 R & 4R afaa T8 R S 8 @ g9 R
720 T, B

1 A

(3) C 4) E

15 G % T TRME #, 7 S & FEET #KQ 8, 8 B
W TS B E U9 3 T q P W oreEw TE R R
T § et Y oS o) e AN @ oreEe Rea?

(1) 0o 2 3

(3) 4 (4) 5

AT GOae % 69 G 3 g IRAE A 3 e
Aferes Pl B @I

(1) 40aT Hele
(3) 42t GMu

2 B

(2) 41ef dse
(4) 43at daes

PGSR H AN AR R Feciiargdl orgar FmaRd # w9 F
e B A B T qge e @ Al @

(1) TS IIHTd 3id (2) oTe faemard of®
(3) ar faemurd of® (4) ¥ AfhH 3w
T o e T & e o 8

(1) oA (2) TER

(3) = T HH (4) feqM R FaER

TH.QH. TR (MS Excel) # d&dic § @ AR & g
AR e

1) Ctrl+2 (2) Ctrl+9
(3) Ctrl+N (4) Curl+R

35 Rt &1 24 &SF % Y W@-@E a2 6,300 Rl
25 et & [ T 3,375 ¥ W@-@E A e 1qy @
oy 2r?
1) 17
(3) 18

) 21

(4) 3T & PiE &
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15.

16.

17.

18.

19.

20.

In the below figure, circle P represents hardworking
people, circle Q represents intelligent people, circle R
represents truthful people, and circle S represents
honest people. Which region represents the people who
are intelligent, honest and truthful but not hardworking:

1) 6
3) 8

@ 7
@) 11

‘IC chips’ for computers are usually made of:

(1) Chromium (2) Silicon
(3) Lead (4) Copper

By selling 33 metres of cloth, a shopkeeper gains the
price of 11 metres of cloth. His gain percent is:

(1) 45% (2) 40%

(3) 50% (4) None of these

The average age of a group of workers changes from
32 to 35 years if an old worker is replaced by a new
worker. How many workers are there in the group if the
new worker is 12 years younger than the older one?

@ 5 (2 4

Q) 6 4 7

The present ages of Amit and Sumit are in the ratio of
1:2. Four years later, their ages will be in the ratio of
7:13. What is their present ages?

(1) 16 years and 32 years
(3) 18years and 36 years

(2) 24 years and 48 years
(4) None of these

ASSERTION (A):- The President of India can issue a
proclamation of emergency under Article 352(1) of
Constitution on the advice of the Prime Minister.

REASON (R):- Where a proclamation of emergency is
in operation, the President may suspend the operation
of all fundamental rights except Article 20 & 21 of
Constitution.

(1) Both A and R are true and R is correct explanation of A
(2) Both A and R are true but R is not correct explanation of A
(3) Aistrue but R is false
(4) Aisfalse but R is true

DIRECTIONS: In the following question, a series is given with
one term missing. Choose the correct alternative from the given
ones that will complete the series.

21.

AGMSY, CIOUA, EKQWC, , IOUAG, KQWCI.
(1) GNTYE (2) GLRYE
(3) GMSYE (4) GMTXE

srexs [A—3]

15.

16.

17.

18.

19.

20.

1 6 @ 7

@) 8 @ 11

TR F TEA. B (IC chips) dmFaa: B &1 3 &
(1) i (2) fafemsta

(3) (4) am

33 HieX FI H d9BK TF Al 11 Hie] IR B HAG
AT H WY qET | SEH AN AOAT &

(1) 45% (2) 40%
(3) 50% (4) T8 q B T

IR @ [T FE A CF T HEN @ S R @
FHEEl B TEE B fad org 32 | 35 af & S ¥
TRE ¥ e FHerd o T el [W HEd 12
T Bier 87

@ 5 () 4
@) 6 @7

T @ gEa # aOA g W AgOW 12 B SR aw
YEEq S SN B AU 7:13 BRI S a0
87

(1) 16 a9 ©d 32 I« (2) 24 a9 ©d 48 T

(3) 18 9y ©d 36 I (4) T ¥ FE Tl

eI (A): 9RT 3 TgUfy, FEECER @ G W OEReN 3
TTBT 352(1) B T AUHA IFET FX Thdl B

T (R): 9 SAUCHA B ITEN B § qET &, T
M & oTge8T 20 $iR 21 W BieaY @l qq S &l
e CERECERCTEE

(1) AT R - A1 @& & R R, A & & BT &
(2) AT R 3N 98 B AT R, A & T8 WA TE R
(3) A TH R AT R e ®

(4 AfFmt A R @& R

fraer: frfarad o7 & o a0 § % 95 faga & Y o famedt
¥ § @ fameg g1 St A @ Q@ R B

21.

AGMSY, CIOUA, EKQWC, , IOUAG, KQWCI.
(1) GNTYE (2) GLRYE
(3) GMSYE (4) GMTXE
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22. Consider the following information regarding the
performance of a class of 1000 students in four
different tests.

Tests | Il 1 v

Average Marks 60 60 70 80

Range of Marks 30to 45t0 | 20to 0to
90 75 100 100

If a student scores 74 Marks in each of the four tests,
in which of the following tests is his performance the
best comparatively?

(1) Test—I (2) Test—Il
(3) Test—1l (4) Test—1V
23. In this question, which number should be in place of
‘X’? The numbers in the figures follow some rule:
1) 4 (2) 6
@) 7 (4) 8
24. What is the control unit’'s function in the CPU:

(1) To transfer data to primary storage
(2) To Store program instructions

(3) To perform logic operations

(4) To decode program instructions

25. Creation of MUDRA bank was proposed in the recent
budget proposal of the Government of India. MUDRA

stands for:

1)
(2)
(©)
(4)

Monetary Union Development Repay agency

Medium Units Development & Reconstruction Agency
Micro Units Development Refinance Agency
Multipurpose Undertakings Development Refinance
Agency

22.

23.

24.

25.

1000 e ot ®o 3 OR faRtw Emel @ weeW @

geafrad 2 & R GEARl # SEaieT B

e [ I I v

aNga sfk 60 60 70 80

S T UG 30to | 45t0 | 20to | Oto
90 75 100 100

AR o e Tw a) qdEet § 74 9% W B 8, @
frfofen e wlen 7 Se JaoTe SR §99S W@ of

(1) o - | (2) wdeEm -

(3) wdEm - 1l (4) Tq&m - IV

AN & X B N W -4 §& o TRy e F @
TR W 38 AW @ oTgER sl &

(1) 4 (2) 6

3 7 4) 8

@.d.g. (cPu) & FE Ie @ T 7 &
(1) ST®ST B TS TR § WFWIRG B
(2) I R B AR

(3) e FEaedr HE

(4) T R B e BT

ARG TR & 8 & & 0 f%% T s51€ § MUDRA §%
% GO H TG &l T MUDRA % dd

@)
@)
®)
4)

Monetary Union Development Repay agency

Medium Units Development & Reconstruction Agency
Micro Units Development Refinance Agency
Multipurpose Undertakings Development Refinance
Agency

DIRECTIONS: Select the suitable alternative to satisfy the relationship in the following question.

frder: Feicied ueT § S Tl B g B a qE faehed B g
Answer figure (ITX SHHI)

26. Question figure (9[3"-[ GT@ET)

DIRECTIONS: Complete the following series.
g fefafea 3t # gof &
27. Question figure (¥ 611?]?[)

<_o . o_> .. 4_0 <_oo_> o_> o_>
O ... [N |/ 7 —
) ) 3 4

Answer figure (B?I’( aq@i%r)

srexs [A—4]
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DIRECTIONS: A survey on a sample of 25 new cars being sold
at a local auto dealer was conducted to see three popular
options—air conditioning, radio and power windows—which were
already installed. The survey found that 15 had air conditioning,
2 had air conditioning and power windows but no radios, 12 had
radio, 6 had air conditioning and radio but no power windows, 11
had power windows, 4 had radio and power windows, 3 had all
three options.

28. What is the number of cars that had none of the options?

1 3 2 2
3) 4 (4) None of these

29. Which of the following represents the statement that
some of the psychologists are philosophers. Some
philosophers are writers. But no psychologist is a

writer.
A B C D

1) B 2 A 3) D 4 C

30. Arrange the following rational members in ascending

order:

T 5 2

10' -8' -3

(1) i<i<__7 (2) i<i<__7
-3 -8 10 -8 -3 10

@ T 2.5 @ L 5.2
10 -3 -8 10 -8 -3

31. My office is to the east of the bus stand and while my
residence is to the south of the bus stand. The market
is to the north of my office. If the distance of the
market from my office is the same as the distance from
my residence to the bus stand, then in which direction
is the market with respect to the bus stand?

(1) North (2) South-West
(3) North-East (4) South

32. If ‘'SPARK’ is coded as TQBSL, what will be the code

for ‘FLAME’?
(1) GNAMF (2) GMBNO
(3) GMBNF (4) GMCMF

33. Find the odd one out from the given alternatives.

(1) Microbe (2) Microfilm
(3) Microphone (4) Microscope

34. The average temperature of a town in the first four
days of a month was 58°C. The average temperature
for second, third, fourth and fifth days was 60°C. If
temperature on the first and fifth days was in the ratio
7:8, then what was the temperature on the fifth day?
(1) 64°C (2) 62°C
(3) 56°C (4) None of these

sFexs [A—5]

Ry T o faar 3 &/ 25 T BRI B died W o w6

ﬁﬁﬁﬁ%@ﬁ%mmw—wmﬁmmw

Tedt § & @i & &3 ¥ uar I % 15 A

2 ¥ TRaRAT @ deX e 8 At @R

oI, 2ﬁ%%ﬁé,6ﬁ®ﬁ%sﬁﬂqﬁ%%ﬁm%ﬁﬁ

Jfe} foet & o, 11 & 9feX faeiw 9, 4 § WA @ e
g, 3 & gt I fomeT &

28. FR % el gEm ff Rl #i8 o fawe & o
) 2
(4) 3§ g &

qﬁ%ﬁﬂ%ﬁﬁf&iﬁ%ﬁ%ﬁ@wﬁ%ﬁm%l g A

THEINE A Tl 8

& |[CD]([lod|
A B C D
(1) B @ A
(3 D 4 C
30. fr=ifoiag =X GEmell # SIRE w7 § Zaied &<
g7 5 2
10’ -8"' -3
2 5 -7 5 2 -7
M 3<% 10 @ <51
7 2 5 -7 5 2
(3) 038 (4) 05553

3. A AT T RS S [ H Th & o9 & W W @ s
% I B

T TR B WG ¥ TR N FETT B IR B AR AR
W HEEE § TR B G0 S & & e a9 wWs § W
WA G A 9 WS 3w A IR A g0 e R F &
(1) I (2) sRrr-ufem

3) ST-gW (4) afaor

32. 3R ‘SPARK’ @ ‘TQBSL’ HiE R o B, @t ‘FLAME’
B T BT BA?

(1) GNAMF (2) GMBNO

(3) GMBNF (4) GMCMF
33. ¥ U faedt & faww @ wEM|

(1) Microbe (2) Microfilm

(3) Microphone

34. T B H AEd AERH TEN B TEA AR RAF F 58°C o
e awET W, AW, N T g R & ¥ 60°C am
IR o O ied R & R # oSIguE 7:8 o, o uied
1 qwEen U
(1) 64°C
(3) 56°C

(4) Microscope

(2) 62°C

(4) 3 | g &

PAPER-1[034578]



35.

36.

37.

38.

39.

40.

41.

42.

Total salary of three persons A, B and C are ¥ 1,44,000. 35.

They spend 80%, 85% and 75% respectively. If their
savings are in the ratio 8:9:20, find C’s salary:

(1) ¥ 48,000 (2) ¥ 64,000
(3) ¥40,000 (4) ¥32,000
An ISP: 36.

(1) Provides access to the internet
(2) Is a CPU register

(3) Is a CPU functional unit

(4) Make of processor

FTP is: 37.

(1) Used to send email

(2) Used to browse the Web

(3) Is part of Netscape

(4) Is a protocol for the transfer of files between
computers

Three views of the same cube are shown below. 38.

The figure on the face opposite the triangle is:

(2) Circle
(4) Rectangle

(1) Pentagon
(3) Question mark

Find the missing number in place of question mark? 39.
14 8 12

10 14 18 6 12 14 5 2?2 15

(1) 10 2) 8

(3) 12 4) 14

One of the pioneering robots, that went missing into  40.

space almost a decade ago, has been recently found
on the surface of red planet. Name it:

(1) Beagle 2

(2) Mars—2 Prop—M. Rover

(3) Mars Rover

(4) Spirit (MER-A)

New Horizons became the first space probe to reach 41.

closest to Pluto recently. This is a mission by:

(1) ISRO (2) ESA
(3) NASA (4) FKA & RKA
A GUl is: 42.

(1) Hardware

(2) Language interpreter
(3) Software interface
(4) An operating system

sFexs [A—6]

W afF A, B @@ C & Fa 3a9 T 1,44,000 81 I HA:
80%, 85% TWH 75% & FXA &1 AR I Faq H AW
8:9:20 &, @ C & Ia9 Fq &L

(1) ¥48,000 (2) ¥64,000
(3) ¥40,000 (4) ¥32,000
o ISP:

(1) =@ W ARFH F&™ BT &
(2) TH CPU Tsit B

(3) TH CPU HFicas 3HhE 8

(4) MO F AF 2

FTP:

1) -39 959 B [ 5gH & 8

(2) 39 I @A & fw ug o g

(3) T W UF fE B

4) FEX F 7T FEAl $ ST & ¢ TF N 8

% & N B a9 39 A gt

Bre @ Ruda % e fm o e
(1) = 2 39
(3) VAT g (4) FFAER

NS O B W W) Age demr sa?

14 8 12
10 14 18 6 12 14 5 ? 15
(1) 10 ) 8
(3) 12 (4) 14

T (ORES Qe S T a9 T e ¥ @ T
AN T & T A9 IE D e W I W FHH AT S
(1) Beagle 2

(2) Mars—2 Prop—M. Rover

(3) Mars Rover

(4) Spirit (MER-A)

New Horizons @ # f#e Ugem o Team ofaRe 9
M T 7E Mg e ®:

(1) ISRO
(3) NASA

(2) ESA

(4) FKA T3 RKA
GUI &

(1) T BEIW

(2) o g
(3) HIFEII F<HE
(4) T TERH T

PAPER-1[034578]



DIRECTIONS: A cube of side four inch is painted red, blue and
black on the pairs of opposite faces. It is then cut into smaller
cubes of side one inch each.

43. How many cubes have one face red and one blue (the
other faces may be painted or unpainted):

(1) 16 (2 8

() 4 (4) 0
44. Pick the odd one out.

(1) Z3w (2) Z5W

() zZrw (4) Z9W

45. The appropriate writ issued by the Court to quash the
appointment of a person to a public office is that of:

(1) Certiorari
(2) Prohibition
(3) Quo Warranto
(4) Mandamus

46. Gross National Product (GNP) of a country is sum of the
market value of all goods and services produced in a year:

(1) Plus export Earnings

(2) Plus Market value of imports
(3) Minus foreign aid

(4) Plus net income from abroad

47. The sum of two number is 2490. If 6.5% of one number
is equal to 8.5% of the other, the numbers are:

(1) 1411 and 1079
(2) 1410 and 1080
(3) 1441 and 1049
(4) 1214 and 1276

48. A small aeroplane can travel at 320 km/hr in still air.
The wind is blowing at a constant speed of 40 km/hr.
The total time for a journey against the wind is 135
minutes. What will be time, in minutes for the return
journey with the wind? (ignore take off and landing
time for the aeroplane)

(1) 945
(3) 108.125

(2) 105
@) 120

49. Multitasking refers to:

(1) Having several programs in RAM at the same time
(2) The ability to run 2 or more programs concurrently
(3) Writing programs in multiple languages

(4) None of these

50. Point out the incorrect statement

To qualify for the membership of Rajya Sabha, one has

to.

(1) Be acitizen of India

(2) Be at least 30 years of age

(3) Fulfils the qualifications of becoming a member of
parliament

(4) Be avoter in any Lok Sabha constituency of India

srexs [A—T7]

fR: T 4 39 9 ™ 3 TOF R A, A, 9 B T D S
¥ % fauda R & T T R R 9 3@ T% W% 39
BIE g9 & T T B

B ARG E A (@A E
71 T G gu & w ):

(1) 16 2 8
(3) 4 4 0

44. ST B GHI
(1) Z3w (2) Z5W
(3 zZrw (4) zow

45. A MF-w W B fa @ g e 571 3 [
TE@E R AR H AN A TR e e ekl @
(1) AT A
(2) FeET
(3) AHR g=BT
(4) YTHRY

46. TH AW H THA THF 6 99 F IqRT Tf awgell w
Jarell # TER TF W@ ... BT &
(1) g e
(2) AR B AR T
(3) fRs oTgeM FeE
(4) TR § Mea o/

47. & demel @ AT 2490 B AR T HEAT W 6.5% AU
W& % 8.5% % &K &, O &N §:
(1) 1411 T©d 1079
(2) 1410 Tud 1080
(3) 1441 ud 1049
(4) 1214 U©d 1276

48. % BT TARSEM 320 fHT. /Her @ W@ T F AET B 2
7 40 Rt /de @ 9§ dOq 9 9 98 WOd aEn @&\
A T & d Rdd @ W 135 e @R 8 A
T % O frar @ @ (B #)? (SeR o Saw @
T BISH)
1) 945
(3) 108.125

(2) 105
(4) 120

49. TeeIRET YERia #xar &
(1) & g F W A B2 W H A
(2) 2 T SUET AR B WE-E g g
(3) F2 T H MW F AW
(4) T 4 I T

50. ™ FIAT B qEEN

[T 99 & 9ol MW B B e Ferad B e
AEEE B

(1) SH 9Rd H AFEG &Ml aAfey

(2) 30 99 % Y FA | FA & =AY

(3) THE HEW & & foC el Sreqet T HIA =AY
(4) 9T % G Wb G &7 § AGEI ol Ay
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DIRECTIONS: (Question No. 51 to 55) These question are to be
answered on the basis of bar chart given below giving the rice
imports (in thousand tonnes) for the year 2000 to 2012.

51.

52.

53.

54.

55.

56.

57.

7016

5832

4203

3465

2500

2413

2000

1811

2000 2001 2003 2004 2005 2006 2011 2012

In which year did imports register highest increase
over its preceding year?
(1) 2012
(3) 2004

(2) 2005
(4) 2003

The imports in 2006 were approximately how many
times to that of 2001?

(1) 3.22
(3) 1.68

() 2.41
(4) 0.31

What is the ratio of the years which have above
average imports to those which have below average
imports?
(1) 3:8
(3) 35

(2) 83
(4) 5:3

The increase in imports in 2012 was what percent of
imports in 20117

(1) 80
(3) 125

@) 5
(4) 25

The import in 2004 are approximately what percent of
average imports for the given years?

(1) 65

(2) 85

(3) 190

(4) 115

Find the incorrect one:

(1) Hertz is used to measure frequency

(2) Kelvin is used to measure temperature

(3) Belis used to measure atmospheric pressure
(4) Ohm is used to measure electrical resistance

RTGS in banking sector stands for:

(1) Real Time Gross Settlement

(2) Real Transactions Going Settlement
(3) Ready Transfer Gross Settlement

(4) Remittance Transfer Gross settlement

srexs [A—8]

e (7 @@ 51 & 55) Frafafad get @ S A R @
IR 9% & MER T &1 I 2 i d6d & o (SR oF H)
af 2000 & 2012 T% 3 @ B

51.

52.

53.

54.

55.

56.

57.

7016

5832

4203

3465

2500

2413

2000

1811

2000

T Y B FW B a9 { AW T TS e T N7

(1) 2012 (2) 2005
(3) 2004 (4) 2003

2001 2003 2004 2005 2006 2011 2012

af 2006 # MM a§ 2001 P HAET B T o A
qr?

1) 3.22 @ 241

(3) 168 4) 031

N TR § i & o oI & &9 3 aul # STgu
T 77

(1) 38
(3) 35

(2) 83
(4) 53

2012 % oG § gfs 2011 % o H feam sfde e?

(1) 80 @ 5
(3) 125 (4) 25

2004 ¥ g Ru U aut & ofwq o W feaw wfea
qr?

(1) 65

) 85

(3) 190

(4) 115

frfoiee o oo A gA:

(1) B iFEr 9 3 I B

(2) BT qEET AT B EHE

(3) I AAERVNY T T P THE 8
(4) ol fegdi ey Ao @ S R

T &1 § RTGS #1 T &

(1) Real Time Gross Settlement

(2) Real Transactions Going Settlement
(3) Ready Transfer Gross Settlement

(4) Remittance Transfer Gross settlement
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58.

59.

60.

61.

62.

63.

Country facing water crisis India

recently:

was helped by

(1) Myanmar
(2) Philippines
(3) Maldives
(4) Bangladesh

An RS-232 interface is:

(1) A parallel interface
(2) A serial interface
(3) Printer interface
(4) A modem interface

8085 microprocessor has
data:

(1) 8hit

(2) 32 bit

(3) 16 bit

(4) None of these

registers to hold

A bag contains 19 red balls, 37 blue balls and 27 green
balls. If a ball is picked up from this bag at random,
what is the probability of picking a blue ball?

(1) 36/87 (2) 37/83
(3) 38/83 (4) None of these

Number of diagonals in a 30 sided convex polygon will
be:

(1) 405 (2) 955
(3) 818 (4) 378
The value of yayaya..... o iS:
11 (2) a
@) a (4)

DIRECTIONS: In an imaginary language, the digits O, 1, 2, 3, 4,
5, 6, 7, 8 and 9 are substituted by a, b, c, d, e, f, g, h, i and j.
And 10 is written as ba.

64.

65.

66.

bee + fg — (ca x h/be) is equal to:

(1) bja (2) afb
(3) ifb (4) bfj

There are 600 Tennis players. 4% wear wrist band on
one wrist. Of the remaining, 25% wear wrist bands on
both hands. How many players don’'t wear a wrist
band?

(1) 534
(3) 344

(2) 432
(4) 482

Buses start from a bus terminal with a speed of 20
km/hr at intervals of 10 minutes. What is the speed of a
man coming from the opposite direction towards the
bus terminal if he meets the buses at intervals of 8
minutes?

(1) 5 km/hr
(3) 6 km/hr

(2) 4 km/hr
(4) 7 km/hr

srexs [A—9]

59.

60.

61.

62.

63.

aft o & F oW HHE ¥ S BeE T W A@ @™
TR T
(1) =FER
(2) Thefeg
(3) AEE
(4) SFERY

T% RS-232 S<{&H B &
(1) T% FIEFIR 3<%

(2) s RREd Fe<m

(3) U Brex T=<mH

(4) UH TESH BT

8085 e HuTeS ¥ ik @H & Y ....... oo Bl &
(1) 8 fae

(2) 32 fae

(3) 16 fae

4) T F FE T

@ ¥ ¥ 19 @ A, 37 M W, 27 = T & R zq
¥ & | Tghe® 1 4 @ & Fem o T B, @ el =
foepem & T R &

(1) 36/87 (2) 37/83

(3) 38/83 @) ™ @ #i5 T

30 geTST A IOw Gt § Rl e ant

(1) 405 (2) 955

(3) 818 (4) 378

ayava..... © EF[‘TF'T%

(1 1 2 a

@) a’ 4) o

e % Fae aw ¥ % 0, 1,2,3,4,5,6,7,8 T 9 FH a,
b,c defgh itjsd ax v b s 81 @ 10 @
ba @I e forEr S B

64.

65.

66.

bee + fg — (ca x h/be) FE® TET &:

(1) bja (2) afb

(3) jfb (4) Dbfj

600 2 Raard &l 4% @ FAE W I Ted B AW D
25% 3N BRf W &€ Teq 31 fha Reael &l W S=
T& Tea?
(1) 534
(3) 344

(2) 432
(4) 482

9 <A § 10 fME 3 o W 20 Bl /8¢ @ 9 |
T To 8 99 <hw & Roda R & o §U o A
T F T AR 9T 99 A 8 PFe F v WX Ui 27
(1) 5 . /ge (2) 4 . e
(3) 6 feHt. e (4) 7 T e
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67.

68.

69.

70.

71.

72.

73.

74.

In the number series 4, 10, 23, 50, 104, 216 and 439, the
wrong number is:
(1) 10

(3) 104

@) 23
4) 50

India recently won gold in world Youth Under-16
Chess Olympiad against:

(1) Ukraine
(3) Turkey

(2) Russia
(4) Iran

Which soil is more suitable for crops like cashew nut?
(1) Red laterite soil (2) Black soil

(3) Alluvial soil (4) Arid soll

We can not see during a fog because of:

(1) Reflection of light
(3) Scattering of light

(2) Internal reflection

(4) None of these

The value of i2+i2 where x = 2+Y3 and y = 23 is:
X

(1) 12

3) 14

() 16
@) 10

In a certain code language ‘PROPORTION’ is written as
‘PORPRONOIT'. How is ‘CONVERSION’ written in that
code language?

(1) VNOCERONIS
(3) VNOCRENOIS

(2) VNCORENOIS
(4) VNOCREIONS

Recently which ministry has launched two schemes
namely—venture capital fund for S.C. and Green
business scheme:

(1) Ministry of Finance

(2) Ministry of Social Justice & Empowerment
(3) Ministry of Commerce & Industry

(4) Ministry of Minority affairs

India’s first dedicated military satellite?
(1) GSAT-12
(2) GSAT-7
(3) GSAT-1
(4) GSAT-8

DIRECTIONS: Answer the following questions according to the
instructions given.

75.

A$B means A is not smaller than B

A#B means A is not greater than B

A@B means A is neither smaller nor equal to B

A*B means A is neither greater than nor smaller than B
A%B means A is neither greater than nor equal to B

STATEMENT:
M@J, J$T, T*N
CONCLUSION:

. N#J . T%M I1l.

(1) Onlyland Il are true
(3) Only llis true

M@N

(2) Only I and lll are true
(4) All are true

srexs [A—10]

67.

68.

69.

70.

71.

72.

73.

74.

gem A 4, 10, 23, 50, 104, 216 T 439 § Tad GE B

() 23
(4) 50

IRG I T & § AT I¥ A=-16 AR AR §
ol 5 39 & faes o

1) g (2 =4

@) = @) A

P T @ B [ BT T A& SGH S
(1) W HERa ga (2) il gar

(3) e gar (4) TR &

& g9 % IR Y FROT T 3

(1) YIS 1 qEe (2) IE WEdT

@3) Y@ F frERE @) ™ @ #i5 T
il UM R x=2B W@y =23
X<y

(1) 12 (2 16

(3) 14 4) 10

% FRET F1 ‘PROPORTION’ $ ‘PORPRONOIT’ fr@m

o & @ S BT 9w F ‘CONVERSION’ &l 38 REhi?

(1) VNOCERONIS (2) VNCORENOIS
(3) VNOCRENOIS (4) VNOCREIONS

B & X R e A & Ao orglRa o & [
el T Hfift o sRa =R FeE arg

1) foa damE

(2) qHSTE =g T4 FARHBIT HATT

(3) AT W& JENT HAH

(4) STUEEIH AHA B HAAT

T B TEidT ARG B GEw IWE 27

(1) GSAT-12
(2) GSAT-7
(3) GSAT-1
(4) GSAT-8

e &3 o fRsl & oIfER FF1 997 &1 S 3

75.

A$B % g B A, B § BT & &

A#B % g B A, B § 997 7 ®

A@B H TEI T A TA B A BT X T & B B T&K &
ABH AU A TABATRMANTIAB T BT &
A%B H TAF T A TAB YT AT & B F T 8

HY-:

M@J, J$T, T*N

frepe:

L N#J I T%M . M@N
(1) a9 1 9 1| T & (2) ¥a9 1 T Il §F 7
(3) @aw Il g4 B @) T+l T ¥
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DIRECTIONS: (Question No. 76 to 78) Read the following
information and answer the questions that follow.

In Common Wealth Games, six weightlifters were selected
through a rigourous selection test. Their names are Atul, Bimal,
Chintoo, Debu, Eshan and Fakir. Out of them Bimal, Chintoo
and Eshan were from Rural Backround and the remaining from
urban background. Atul, Bimal and Debu had completed their
education in English medium and all remaining in Hindi Medium.
Debu and fakir had specialisation in yoga and others had
specialisation in swimming.

76. If Atul and Chintoo were also yoga specialists, what
would have been the number of swimming specialist
from rural background:
@1
3) 3

2 2
(4) None of these

77. Which of the following description is correct in respect

of Atul and Bimal.

both of them are:

(1) From urban background studied in English medium

(2) From Rural Background studied in English medium

(3) Having Swimming specialisation studied in English
medium

(4) English medium players but one of them is a yoga
expert

78. Who among the following is a yoga specialist coming

form urban background and studied in English
medium:

(1) Fakir (2) Atul

(3) Chintoo (4) Debu

79. This river rises from Trimbak plateau of north Sahyadri:
(1) Cauvery
(2) Godavari
(3) Krishna
(4) Mahanadi

80. Who won the inaugural title of the star sports Pro
Kabaddi league:

(1) U Mumba

(2) Jaipur Pink Panther
(3) Dabang Delhi

(4) Bengal Warriors

81. STATEMENT:
All boys are girls
No girl is a father
CONCLUSION:
I.  All girls are boys
Il.  No boy is afather
(1) Only I is true
(2) Only Il'is true

(3) Only I and Il are true
(4) None of them is true

sFoxs [A—11]

g (97 e 76 @ 78) frfafad gEAmelt & o8 @ g &
I 2

B Ay Gl § B AR B ST g GO & HEH
q G T B I AW E o, fae, fog, Y, 39M @ W
T § e, B o W o g 9 @ 9 o 9 el
TS 9H § 21 o, fme ©d g 7 oo R ofish wem | &l
4 o S g R W Q1 AY T WK A H fAQs 6
T & wEls gEy dE A

@3) 3

(4) = q P T

77. IgA AR Rm@ & g § -1 faewer a7
3t 2
(1) S 7199 § 98 gC el US4 &
(2) SIS wrEw § U gU AEY 7% 4 &
(3) ol wregw 7 9 U rh A
(4) ST wrem & Raendl fe I @ T g Y

78. frefafen & & #9- G s ST wH T G AR @
S wrem @ veE Bear ger &
(1) T (2) S
@ frg @ 3

79. IA0 @R & Praw @g ¥ e aeh T R
(1) FEd
(2) MeEd
(3)
(4) wEwE
80. TR WIEH W FIE AT H JATH T faoi B T
1) F g
(2) YR i )
(3) & Rt
(4) T s

8l. HY-:

it ae dekedr 2

g ot T R T
ferep:

I gl ol e §

ii. W W wEH R T g
(1) dael | 9 2

(2) dad Il G4

(3) Baw | T9 Il 9

(4) T & FE 99 T °
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DIRECTIONS: The following graph gives the marks scored by a
student in different subjects — English, Hindi, Mathematics,
Science and Social Science in an examination. Assuming that
the total marks obtained for the examination are 540, answer the
question given below.

Scier})ce
90 Social
Science
55°

82. The difference of marks between Social Science and
Mathematics as the same as between:

(1) English and Science
(2) Science and Hindi
(3) Hindi and English
(4) None of these

83. Hajo is an ancient pilgrimage center for three religions.
Which one religion is not included in this:
(1) Hindu
(2) Buddhists
(3) Jains
(4) Muslims

DIRECTIONS: In a certain code language—
i. ‘Cod dex nom’ stands for ‘banana is sweet’
ii. ‘Zip dex nux’ stands for ‘apple is good’
iii. ‘Cod nux elp’ stands for ‘banana and apple’ and
iv. ‘pareb nom’ stands for ‘oranges are sweet'.

84. Which word in that language stands for ‘apple’.
(1) Elp
(2) Nux

() Zip
(4) None of these

85. To which ocean the Panama Canal joins the Atlantic
Ocean?

(1) Pacific Ocean
(2) Indian Ocean
(3) Arctic Ocean
(4) Caspian Sea

86. Match List—I with List-II
List-I
1. Jawahar Lal Nehru Port
2. Paradip Port
3. Kandla Port
4. Ennore Port

(1) 1-D, 2-A, 3-B, 4-C
(2) 1-B, 2-C, 3-D, 4-A
(3) 1-D, 2-C, 3-B, 4-A
(4) 1-B, 2-A, 3-D, 4-C

List-II

A. Tamilnadu
B. Mabharastra
C. Odisha

D. Gujarat

sFexs [A—12]

fy w el s i fawi-ofsh, &<, Pa, fem o
M faee & ofvfa ofe @ refefed o g/ cemn g
T Ad g 6 Them § @ oia ofdl @ dem 540 B A
frrfoiied 999 1 ST &l

Science
0
Social
Science
55°

82. |MIN® fsM W@ TG ® W IFH F IR IaW & &
o = 3 A
(1) B e fomm
(2) ™ @ =
(3) f=& wa s
@) = q P T

83. & N &Hf W

& &
1) g
(2) e
(3)

@) g™

e w Mive #is o d-
i. ‘Cod dex nom’ % A ¥ ‘banana is sweet’
i.  ‘Zip dex nux’ @ A & ‘apple is good’
iii. ‘Cod nux elp’ %1 A 2 ‘banana and apple’ T
iv. ‘parebnom’ % A@H § ‘oranges are sweet’

T TN G- = 8 A-ar 99 59d

84. I W ¥ P-4 9= ‘apple’ B R 7y R v B
(1) Elp
(2) Nux
3) Zp
@) T q PR T

85. Y HEMrR § YN TEX STedived WEErR § i 27

(1) 99 FEERR
(2) = AeErR
(3) STHed HEEFR
(4) FANET TEEFR

86. -l A G-Il ¥ AT B¢

Q%ﬁ— -1l
ST I Ew A A, dfrg
2. TRET 9 B. WERTE
3. FHEa 9 C. onfesm
4. TR A D. TR

(1) 1-D, 2-A, 3-B, 4-C
(2) 1-B, 2-C, 3-D, 4-A
(3) 1-D, 2-C, 3-B, 4-A
(4) 1-B, 2-A, 3-D, 4-C
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87.

88.

89.

90.

91.

92.

93.

94.

95.

Anusuya, who gave sermons to Sita, the wife of Lord
Rama, during their banishment to forest (vanvasa),
was the wife of sage:
(1) Atri

(3) Marichi

(2) Angiras
(4) Kratu

If the radius of aright circular cylinder is decreased by
50% and its height is increased by 60%, its volume will
be decreased by:
(1) 30%
(3) 60%

(2) 40%
@) 70%

The perimeter of a rhombus is 40 cm and the measure
of an angle is 60°, then the area of it is—

(1) 1003 cm? 2) 753 cm?
(3) 1803 cm? (4) 503 cm?

If ‘yellow’ is called white, ‘white’ is called pink, ‘pink’ is
called red, ‘red’ is called black, ‘black’ is called green,
‘green’ is called orange, then what is the colour of coal?
(1) Red (2) Orange

(3) Green (4) Black

This is a ground penetrating radar and will provide
centimeter scale resolution of the geologic structure of
the subsurface. This is among the seven selected
payloads that will be sent to Mars 2020 rover mission:

(1) MEDA (2) RIMFAX
(3) SHERLOC (4) MOXIE

To mark 800" anniversary of Magna Carta (1215), four
surviving copies of the world most important
documents of parliamentary democracy were recently
brought together as a part of celebrations in:

(1) Washington

(2) Delhi

(3) London

(4) Kathmandu

The fourteenth Finance Commission recommended
........... of the net proceeds of the union tax revenues to
be transferred to the states:

(1) 32% (2) 35%

(3) 42% (4) 45%

Who won Hockey India League-3 ?

(1) Delhi Waveriders
(2) UP Wizards
(3) Punjab Warriors
(4) Ranchi Rays

For 1 MB memory the number of address lines required:
(1) 11

(2) 16

(3) 22

(4) None of these

sFexs [A—13]

87.

88.

89.

90.

91.

92.

93.

94.

95.

R SR R, 98 B9 g @ oon o
1) &= () sifrRE
(3) =RE (4) &g

2, @ @ e | yioaa @ HA aRl
(1) 30% (2) 40%
(3) 60% (4) 70%

TH TEIHS F URAT 40 cm ¥ OiR EE ©F FOT 60° B
@ THH HAHA SN

(1) 1003 cm? (2) 753 cm?

(3) 1803 cm? (4) 503 cm?

IR G’ B TBE Fod 3, IS B OAE, [AEC B A,
‘TR B B, BT BB, T B AT B &, Q1 B
& T R

(1) T (2) Eh

(3) = (4) Frar

T TF - ©R & @ I8 SU-ToE H ANs G0 &
Ffe B0 REIQEE T&F S I8 91 F4a Jaed J &
T% ¥ W W 2020 Ve B W AT SR

(1) MEDA (2) RIMFAX
(3) SHERLOC (4) MOXIE

I @l (1215) @ 800 Fs B TM B R wEdE
yoas % she ¥ faw & w0 weEq 9R S sae &
TH A a0 ol T H Stug W U e s I FRl
T

(1) andires

(2 Rl

(3)

(4) PEERg

W3 WA N gE A
(o) & ..o T H TR B B STgaan B
1) 32% () 35%

(3) 42% (4) 45%

AT BB A1-3 B SHar?
(1) Rl daEsd

(2) g4 fosté

(3) G R

(4) TS

1MB | % fou aifteq qar @g @ we:

(1) 11
(2) 16
(3) 22

(4) = q P T
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GENERAL ENGLISH

DIRECTIONS: (Question Nos. 96 to 100) Read the following passage. The questions following it are based on its content. Select
the best answer to each question, based on the content of the passage.

What is it that people today fail to understand about what is happening to them? What is happening is that they are using up
their planet at a fearsome rate and may soon pass the point where their total habitat can sustain human life. Man’s world is slipping
away from him. His habits, his thoughts, his actions run counter to the essentials of his existence. He has created national
governments for the purpose of giving him maximum protection, but he has no way of protecting himself against the governments.
In the act of contending with one another, the governments have become instruments of race suicide and world holocaust.

Most of what man does is irrelevant to his main problems; his ingenuity has been applied to everything except the need to
make his planet safe for human habitation. He has cut into his natural environment with large slashes. His sources of food are being
sealed over by the tar and cement of his cities and highways. Next to destructive force, he produces nothing in greater volume than
his garbage. He has made his sky an open sewer and his rivers and lakes a poisonous brew. He has pumped his foul wastes into
the seas and has stared balefully at billions of floating dead fish.

Instead of fortifying his plants against insects with rich loam and compost, he has attacked them indiscriminately with
chemicals, violating the chain of life and killing off the birds that are far more essential to his own spirit than many of his
commodities. By going against nature, he has warred against beauty of line, movement, and sound. He has been mucking up his
own planet, but has the arrogance to go searching for life elsewhere in the universe.

What has been happening to people that they don't understand is that they have made a geographical entity out of their world
without a philosophy for ennobling it, a plan for conserving it, or an organization for sustaining it. Men crave to do good, to act
reasonably and think decently. But goodness and decency and wisdom must have a world purpose in our time if life and thought are
to have any meaning at all.

96. The author would strongly oppose:
(1) Aflight to Mars to search for life (2) A stronger United Nations
(3) Pollution control (4) Organic farming
97. The passage condemns man for:
(1) Discovery of penicillin (2) Laying railway tracks
(3) Man’s ingenuity (4) Mucking up his own planet
98. The tone of the passage can best be said to be:
(1) Concealed humour (2) Alarming concern
(3) Unbridled anger (4) A sense of joy
99. The author’s view on man’s thoughts, habits and actions are that:

(1) They contribute to financial success
(2) Run counter to the theory of relativity
(3) Go against the basics of his existence
(4) They assist in the process of evolution

100. The passage brings out that man’s craving for doing good, acting reasonably and thinking decently is not enough
unless these qualities:

(1) Are implemented quickly

(2) Have a goal for entire world

(3) Build friendship between humans
(4) Help in avoiding conflict

DIRECTIONS: (Question 101 & 102) In the following questions, pick the choice whose meaning is opposite to the word shown in
capitals for each question:-

101. HOI POLLOI:
(1) Cannibalism (2) Tyranny
(3) The past (4) Aristocracy
102. INCREDULOUS:

(1) Tolerable (2) Creditable
(3) Gullible (4) Vicious
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DIRECTIONS: (Question 103 & 104) In the following questions, the descriptive sentence is aptly described by just one word. Select
the choice which give the meaning most appropriately:

103. A person who creates disorder in a state:

ili Rebel (2) Militant
(4) Fifth columnist

104. One who talks in his sleep:

(2) Somnivocalist
(3) Somnambulist (4) Somnalesist

DIRECTIONS: Which of phrases given below in each sentence should replace the phrase in Underlined to make the sentence
grammatically correct?

105. He is too important for tolerating any delay:

(2) to tolerating
(3) attolerating
(4) with tolerating

DIRECTIONS: Choose the correct word which can be substituted for the given word/sentence.

106. Extreme old age when a man behaves like a fool:

1) Imbecility (2) Senility
(4) Superannuation

107. In the following question, which of the following paired conjunctions would you use to combine the two sentence into
one sentence.

She will have to study hard. She will have to concentrate to do well on the exam.

ili both...and

(3) either...or
(4) neither...nor

DIRECTIONS: Arrange the following sentences/phrases in a coherent sequence and select the corresponding choice from (1), (2),
(3) and (4).
108. Jumbled sentences/phrases:

M and took him to hospital
N  His friend came and

O He cried for help

P Killed the snake

Q A snake bit the gardener

(1) QPONM (2) ONQPM
(4) NMOQP

109. Read the following sentences. In the following sentences, in which sentence adverbs modify the whole sentence
rather than any particular word:

ili Rekha runs iuickli.

(3) This is a very sweet mango.
(4) Rekha reads quite clearly.

110. Fill in the gap with suitable preposition:
Ram died __ fatigue.
(1) of

(3) for
(4) in
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DIRESTIONS: (Question No. 111 to 112) Against each key word are given four suggested meanings. Choose the word or phrase
which is most nearly the same to the keyword.

111. BOURGEOQIS:

(1) Aristocratic iZi Animated
(3) Lively

112. JOCUND:
(1) Filmsy (2) Cheerful
(3) Cruel (4) Laughable

113. The correct passive voice of the following sentence is:
Will anyone believe your story?

(2) Will you be believed for story by anyone?

(3) Will your story to be believed by anyone?

(4) Will your story having been believed by anyone?
114. Identify the incorrect sentence:

1) The patient had died before the doctor arrived.

(3) Read regularly lest you should fail.
(4) Bread and butter makes a good breakfast.
115. Identify the incorrect plural:
(1) Swine (2) Sheep
(3) Species
116. Fill in the blank using the correct tense:
I..... at five o’clock and ..... for two hours. After taking a bath, I ..... breakfast. Then, I ..... to school on my bike.

(2) Get up, will study, take, went
(3) Get up, study, will take, go
(4) Got up, will study, will take, will go

117. Given below are the words with different spellings. Select the one which you consider to be correctly spelled:

(2) Paraphrenalia
(3) Parapherenalia (4) Paraphrennalia

118. Change the following direct speech into correct reported speech and mark your options from among choices.
Ram said, “The teacher left an hour ago”

(1) Ram said that the teacher had left an hour ago
(2) Ram said that the teacher left an hour ago

(4) Ram said that the teacher had left an hour ahead

119. Fill in the gap correctly.

Indiawon by an and three .

ili Inninis, run

(3) Inning, run
(4) Inning, runs

DIRECTIONS: Choose the appropriate preposition to fill in the blank.

120. Our plane stopped ....... Mumbai airport on the way to Italy.
® o @a
(3) on
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